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FEAKE A3 = 2.000 X(4.500—2.000)+ X(4.500-2.000) = 9.063 (m2)

i 2
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1.4 3 BE (No 20+5.000) ITH 1T B KRS L ViRE

Ko
d = 5.000 (m)
18 7K W 1 i
A = (4.000—2 X0.452)X0.450+0.500% /2 X[2 X1.471— Sin(2 X1.471)]
+[4.000+0.10 X(5.000— 0.450)] X(5.000 - 0.450) = 22.006 (m° )
NI
P = 4.000-2 X0.452+ 2 X0.500 X1.471
+2 X(5.000-0.450) xﬂ/1+-o‘1002 = 13.711 (m)
(RS
R A 22. 006 1.605
P 13,711 605 (m)
R 3 B pd
30. 884
= = 1.403 (m/sec)
22.006
O
Q = 30.884 (m° /s)
7 — R
. /\/a'QZ 0A
r = T
g_As oh
1.00 X 30, 8842 e
= g X5.090 = 0.216 < 1.0 ----- (% W)
9.8 X22.006
1.4.2 HREHR=E
KO
d = 3.800 (m)
18 7K W 1t R
A = (4.000—2 X0.452)X0.450 + 0.500% /2 X[2 X1.471— Sin(2 X1.471)]
+[4.000+0.10 X(3.800—0.450)] X(3.800-0.450) = 16.258 (n° )
eIV
P = 4.000-2 X0.452+ 2 X0.500 X 1.471
+2xa.mo-04m>xﬁ1+o¢o& = 11.299 (m)
7"
Pl A 16. 258 | 430
TP 11.299 )
S
26. 800
V = = 1.648 (m/sec)
16. 258
HRE/PFRHE V.= 0.700 (m/s) < V= 1.648 (m/s) - (0K)
FERRE® V, = 3.000 (m/s) > V= 1.648 (m/s) -+ (0K)
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(0K)

o
Q = 26.800 (n° /s)
< Qmax = 30.884 (m3 /S)
70— K
Fr =
1.00 X26. 8002 o
= 1 X4.850 = 0.288 < 1.0 --c--- (% W)
9.8 X16. 258
R E
V2
Fb = 0.070d+1.0007="+0.150
2
= 0.070 X3.800+ 1.000 X————+0.150 = 0.555 (m)
2X9.8
d+Fp = 3.800+0.555 = 4.355 (m) < /KEKHEER 5.000 (m) ------ (0K)
BRAAE 1= 14.210 (%)
FRAKEGE  he = 1.695 (m)
RS it 2
1 1
Ve = — k3P C 0,912 %0 0142101 = 3. 900 (m/ sec)
n 0.0300
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1.5 FFFUKEER
1.5.1 gREtiRE

1.5.1. 1 KEzER

HER

i = Q = 26.800 (m’/s)

ALK — A DEH hiv + hyia + zin = hi + hyi + zi + he + he

i%};f?kﬁﬁ hei = OL/2g><V1A2A

TR —MERE o« = 1.00

) SO % BT SR RE 2FR T,
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
KR | KBS | KESTR | KESHE | 7K % | B K | | RE | ML O Bl | Gl B | BREE | 2Ol | hthetz | hthotz
= OEE | oS H B h W i P R % #% K OBA | ROKER | oK +he+h,
1 (m) | z (m (m) (m) (m | A () (m) (m) n (m/s) |hy (m) | hy (m) | h (m) (m) (m)

No 1+ 8.000 17. 560 5. 000 5. 000 3.106| 13.066 9. 905 1.319] 0.0300 2.051] 0.2146 20. 881
No 2+ 0.000 | 12.000| 17.530 5. 000 5. 000 3.104| 13.057 9.901 1.319] 0.0300 2.053] 0.2149| 0.0314 20. 850 20. 881
No 3+ 0.000 | 20.000| 17.481 5. 000 5. 000 3.101| 13.040 9. 893 1. 318] 0.0300 2.065] 0.2155] 0.0525 20. 797 20. 850
No 3+12.500 | 12.500| 17.450 5. 000 5. 000 3.098| 13.030 9. 889 1.318] 0.0300 2.057] 0.2158| 0.0329 20.764| 20.797
No 4+ 0.000 7.500| 17.435 5. 000 5. 000 3.092| 13.002 9. 876 1.316] 0.0300 2.061] 0.2168| 0.0198 20.744 | 20.764
No 4+18.300 | 18.300| 17.400 5. 000 5. 000 3.070| 12.901 9. 831 1.312] 0.0300 2.077] 0.2202] 0.0490| 0.0054| 20.690| 20.744
No 5+ 0.000 1.700] 17.358 5. 000 5. 000 3.114| 13.100 9. 920 1.321] 0.0300 2.046] 0.2135] 0.0045 20.685] 20.690
No 5+13.300 | 13.300| 17.030 5. 000 5. 000 3.455| 14.656| 10.605 1.382] 0.0300 1.829] 0.1706| 0.0303 20. 655| 20. 685
No 6+ 0.000 6.700] 17.016 5. 000 5. 000 3.455| 14.659| 10.606 1.382] 0.0300 1.828] 0.1705| 0.0131 20.642| 20.655
No 6+ 8.000 8.000| 17.000 5. 000 5. 000 3.456| 14.663| 10.608 1.382] 0.0300 1.828] 0.1704| 0.0156 20.626| 20.642
No 7+ 0.000 | 12.000| 16.973 5. 000 5. 000 3.460| 14.681| 10.616 1. 383] 0.0300 1.825] 0.1700| 0.0234 20.603| 20. 626
No 8+ 0.000 | 20.000| 16.928 5. 000 5. 000 3.467| 14.713| 10.629 1.384] 0.0300 1.822] 0.1693| 0.0388 20. 564 | 20.603
No 8+12.500 | 12.500| 16.900 5. 000 5. 000 3.471| 14.733| 10.638 1.385] 0.0300 1.819] 0.1688| 0.0242 20.540| 20. 564
No 9+ 0.000 7.500| 16.887 5. 000 5. 000 3.469| 14.723| 10.634 1.385] 0.0300 1.820| 0.1690| 0.0145 20.526] 20. 540
No 10+ 0.000 | 20.000| 16.854 5. 000 5. 000 3.463| 14.697| 10.622 1.384| 0.0300 1.824] 0.1697| 0.0387 20. 487 20. 526
No 10+ 2. 300 2.300] 16.850 5. 000 5. 000 3.463| 14.694| 10.621 1.383] 0.0300 1.824] 0.1697| 0.0045 20.482| 20.487
No 10+15.000 | 12.700| 16.830 5. 000 5. 000 3.457| 14.669| 10.610 1.383] 0.0300 1.827] 0.1703| 0.0247 20. 458 20. 482
No 11+ 0.000 5.000| 16.819 5. 000 5. 000 3.459| 14.677| 10.614 1.383] 0.0300 1.826] 0.1701| 0.0097 20. 448 20. 458
No 12+ 0.000 | 20.000| 16.774 5. 000 5. 000 3.466| 14.710] 10.628 1.384| 0.0300 1.822] 0.1694| 0.0388 20. 409 20. 448
No 12+ 6.000 6.000| 16.760 5. 000 5. 000 3.468| 14.720| 10.632 1.384| 0.0300 1.821] 0.1691] 0.0116 20. 397 20.409
No 13+ 0.000 | 14.000| 16.725 5. 000 5. 000 3.477| 14.761| 10.650 1.386| 0.0300 1.816| 0.1682] 0.0270 20. 370 20. 397
No 13+18.000 | 18.000| 16.680 5. 000 5. 000 3.489| 14.816| 10.674 1.388] 0.0300 1.809| 0.1669| 0.0344 20.336| 20.370
No 14+ 0.000 2.000| 16.660 5. 000 5. 000 3.507| 14.897| 10.710 1.391] 0.0300 1.799| 0.1651] 0.0038 20. 332 20. 336
No 15+ 0.000 | 20.000| 16.465 5. 000 5. 000 3.684| 15.718| 11.066 1.420| 0.0300 1.705| 0.1483| 0.0351 20. 297 20. 332
No 15+ 6.600 6.600| 16.400 5. 000 5. 000 3.743| 15.993| 11.185 1.430| 0.0300 1.676| 0.1433] 0.0106 20. 287 20. 297
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
X R | KESE | AKBETE | KESHE | 7K R | @ ok | M | BRE | ML E | PR E | G E | BEE | 0 | hthetz | hthotz
;I B | OFES H B h T T A P % %% K BR | ROKER | oK +hrth,
1 (m | z (m (m) (m) (m) | A (@) (m) (m) n (m/s) | hy (m) | hr (m) | h, (m) (m) (m)
No 16+ 0.000 | 13.400| 16. 356 5. 000 5. 000 3.769| 16.112| 11.236 1.434] 0.0300 1.663] 0.1412| 0.0208 20. 266 | 20. 287
No 17+ 0.000 | 20.000| 16.290 5. 000 5. 000 3.808| 16.294| 11.314 1.440| 0.0300 1.645] 0.1380| 0.0304 20. 235] 20. 266
No 17+12.000 | 12.000| 16.250 5. 000 5. 000 3.831| 16.404| 11.362 1.444) 0.0300 1.634] 0.1362| 0.0178 20. 218 20.235
No 18+ 0.000 8.000| 16.242 5. 000 5. 000 3.827| 16.383] 11.353 1.443] 0.0300 1.636| 0.1365| 0.0118 20. 206 20. 218
No 19+ 0.000 | 20.000| 16.224 5. 000 5. 000 3.815| 16.328| 11.329 1.441] 0.0300 1.641] 0.1375| 0.0297 20.176| 20. 206
No 20+ 0.000 | 20.000| 16.205 5. 000 5. 000 3.803| 16.272| 11.305 1.439] 0.0300 1.647] 0.1384| 0.0299 20.146| 20.176
* No 20+ 5.000 5.000| 16.200 5. 000 5. 000 3.800| 16.258| 11.299 1.439] 0.0300 1.648] 0.1386| 0.0075 20.139| 20. 146
1.5. 1.2 Ki
24.0

E=(m)

B

16.0
No 25
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1.5. 1.3 A
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1.5. 1.5 BEREHRIC/KIERIHR R

he = 1/2X (/R XV + nid®/Ria X Vi)

) SO sk FNE SR Wi 2 KT,

X e (S FLEEAREL ot R nd/RYVPXVE | EEERIR R KER
il 1 (m) R (m) n V (m/s) he (m)
No 1+ 8.000 1. 319 0. 0300 2.051 0. 00262
No 2+ 0.000 12. 000 1. 319 0. 0300 2.053 0. 00262 0.0314
No 3+ 0.000 20. 000 1. 318 0. 0300 2. 055 0. 00263 0. 0525
No 3+12.500 12. 500 1. 318 0. 0300 2. 057 0. 00264 0. 0329
No 4+ 0.000 7.500 1. 316 0. 0300 2.0061 0. 00265 0.0198
No 4+18. 300 18. 300 1. 312 0. 0300 2.077 0. 00270 0. 0490
No 5+ 0. 000 1. 700 1. 321 0. 0300 2. 046 0. 00260 0. 0045
No 5+13.300 13. 300 1. 382 0. 0300 1. 829 0. 00195 0. 0303
No 6+ 0.000 6. 700 1. 382 0. 0300 1. 828 0. 00195 0.0131
No 6+ 8.000 8. 000 1. 382 0. 0300 1. 828 0. 00195 0.0156
No 7+ 0.000 12. 000 1. 383 0. 0300 1. 825 0. 00195 0. 0234
No 8+ 0.000 20. 000 1. 384 0. 0300 1. 822 0.00194 0. 0388
No 8+12.500 12. 500 1. 385 0. 0300 1. 819 0.00193 0. 0242
No 9+ 0.000 7.500 1. 385 0. 0300 1. 820 0.00193 0.0145
No 10+ 0.000 20. 000 1. 384 0. 0300 1. 824 0.00194 0. 0387
No 10+ 2. 300 2.300 1. 383 0. 0300 1. 824 0.00194 0. 0045
No 10+15. 000 12. 700 1. 383 0. 0300 1. 827 0. 00195 0. 0247
No 11+ 0.000 5. 000 1. 383 0. 0300 1. 826 0. 00195 0. 0097
No 12+ 0.000 20. 000 1. 384 0. 0300 1. 822 0.00194 0. 0388
No 12+ 6. 000 6. 000 1. 384 0. 0300 1. 821 0.00193 0.0116
No 13+ 0.000 14. 000 1. 386 0. 0300 1. 816 0.00192 0. 0270
No 13+18. 000 18. 000 1. 388 0. 0300 1. 809 0. 00190 0. 0344
No 14+ 0.000 2. 000 1. 391 0. 0300 1.799 0.00188 0. 0038
No 15+ 0. 000 20. 000 1. 420 0. 0300 1. 705 0.00164 0. 0351
No 15+ 6.600 6. 600 1. 430 0. 0300 1.676 0. 00157 0.0106
No 16+ 0.000 13. 400 1.434 0. 0300 1.663 0.00154 0. 0208
No 17+ 0.000 20. 000 1. 440 0. 0300 1. 645 0. 00150 0. 0304
No 17+12. 000 12. 000 1. 444 0. 0300 1.634 0.00147 0.0178
No 18+ 0.000 8. 000 1.443 0. 0300 1. 636 0.00148 0.0118
No 19+ 0.000 20. 000 1.441 0. 0300 1. 641 0.00149 0. 0297
No 20+ 0.000 20. 000 1.439 0. 0300 1. 647 0. 00150 0. 0299
* No 20+ 5.000 5. 000 1.439 0. 0300 1. 648 0. 00151 0. 0075
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1.5.1.6 Z O I/KEH
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= 0.0017 Xhg = 0.0017 X3.070 = 0.0054 ()
ZT, hy s BEEBHICKDHEIKE ()
he @ TURETIEIC IS HKEE ()

(&

0.08

o ] ozs]__Opo ]
o il
006 AT
2 008 s 7 | ] ] g
= 0.03 |0l o5 / / / //// )
A S VAN
0:01 75 4" e éﬁé —

(0] 01 02 03 04 05 06 07 08 09 10
Zire

21



1.5. 1.7 /KW D RRA:

WIEEEAME F, = 0.070h+ 1. 000V?/2g+0. 150

VRS E F, = 0.600 + 0.037V-h'?

PRI R 5 A PRI IS K 5 BT IKBEIRIZ KT 5 AR
OB | RKhE e | PR ERNE | ARG | K 3 71— R ABHE | hth KEEE | HIE
b Q (m’) Quax (m*) (m/s) V. (m/s) V. (m/s) h (m) F. F, (m) (m) (m)
No 1+ 8.000 26. 800 49.992 * 2.051 0.700 3.000 * 3. 106 0. 393 i 0. 582 3. 688 5.000 *| OK
No 2+ 0.000 26. 800 49.992 * 2.053 0.700 3.000 * 3.104 0. 394 i 0.582 3. 686 5.000 *| OK
No 3+ 0.000 26. 800 49,992 * 2. 055 0.700 * 3.000 * 3.101 0. 395 R 0. 583 3. 683 5.000 ®*| OK
No 3+12.500 26. 800 49.992 * 2. 057 0.700 3.000 * 3. 098 0. 395 i 0. 583 3. 681 5.000 *| OK
No 4+ 0.000 26. 800 44. 265 * 2.061 0.700 3.000 * 3. 092 0. 396 i 0. 583 3.675 5.000 *| OK
No 4+18. 300 26. 800 157.922 ™ 2.077 0.700 3.000 * 3.070 0.401 i 0. 585 3. 655 5.000 *| OK
No 5+ 0.000 26. 800 157.922 * 2. 046 0.700 * 3.000 * 3.114 0.392 R 0. 581 3. 695 5.000 ®*| OK
No 5+13. 300 26. 800 157.922 ™ 1. 829 0.700 3.000 * 3. 455 0.334 i 0. 562 4. 017 5.000 *| OK
No 6+ 0.000 26. 800 45, 424 * 1. 828 0.700 * 3.000 * 3. 455 0.334 R 0. 562 4.018 5.000 ®*| OK
No 6+ 8.000 26. 800 47.666 ™ 1. 828 0.700 3.000 * 3. 456 0. 333 i 0.562 4.018 5.000 *| OK
No 7+ 0.000 26. 800 47. 666 * 1. 825 0.700 * 3.000 * 3. 460 0. 333 R 0. 562 4. 022 5.000 *| OK
No 8+ 0.000 26. 800 47.666 ™ 1. 822 0.700 3.000 * 3. 467 0.332 i 0. 562 4. 029 5.000 *| OK
No 8+12.500 26. 800 47. 666 * 1. 819 0.700 * 3.000 * 3.471 0. 331 R 0. 562 4.033 5.000 *| OK
No 9+ 0.000 26. 800 41.187 * 1. 820 0.700 * 3.000 * 3. 469 0. 331 R 0.562 4.031 5.000 ®*| OK
No 10+ 0.000 26. 800 41.187 * 1. 824 0.700 3.000 * 3.463 0.332 i 0. 562 4. 025 5.000 *| OK
No 10+ 2. 300 26. 800 41.187 * 1. 824 0.700 3.000 * 3.463 0. 332 i 0.562 4. 025 5.000 *| OK
No 10+15. 000 26. 800 47.781 * 1. 827 0.700 * 3.000 * 3. 457 0. 333 R 0. 562 4. 020 5.000 ®*| OK
No 11+ 0.000 26. 800 47.781 * 1. 826 0.700 * 3.000 * 3. 459 0. 333 i 0.562 4. 021 5.000 *| OK
No 12+ 0.000 26. 800 47.781 * 1. 822 0.700 3.000 * 3. 466 0. 332 i 0.562 4. 028 5.000 *| OK
No 12+ 6.000 26. 800 50.276 ™ 1. 821 0.700 * 3.000 * 3. 468 0.332 R 0. 562 4. 030 5.000 ®*| OK
No 13+ 0.000 26. 800 50.276 ™ 1. 816 0.700 * 3.000 * 3.477 0. 330 R 0. 562 4. 039 5.000 ®*| OK
No 13+18. 000 26. 800 99, 491 * 1. 809 0.700 * 3.000 * 3. 489 0. 328 R 0. 561 4. 050 5.000 ®*| OK
No 14+ 0.000 26. 800 99.491 * 1.799 0.700 3.000 * 3. 507 0. 326 i 0. 561 4. 067 5.000 *| OK
No 15+ 0.000 26. 800 99, 491 * 1. 705 0.700 * 3.000 * 3. 684 0.302 R 0. 556 4. 240 5.000 ®*| OK
No 15+ 6.600 26. 800 99, 491 * 1.676 0.700 * 3.000 * 3.743 0.294 i 0. 555 4. 299 5.000 ®*| OK
No 16+ 0.000 26. 800 57.797 * 1.663 0.700 * 3.000 * 3. 769 0.291 R 0. 555 4. 324 5.000 *| OK
No 17+ 0.000 26. 800 57.797 * 1. 645 0.700 * 3.000 * 3. 808 0. 287 R 0. 555 4. 362 5.000 ®| OK
No 17+12. 000 26. 800 57.797 * 1.634 0.700 3.000 ™ 3. 831 0. 284 I 0. 554 4. 386 5.000 *| OK
No 18+ 0.000 26. 800 30.884 * 1.636 0.700 3.000 ™ 3. 827 0. 284 I 0. 554 4. 381 5.000 *| OK
No 19+ 0. 000 26. 800 30.884 * 1. 641 0.700 3.000 ™ 3. 815 0. 286 I 0. 555 4. 370 5.000 *| OK
No 20+ 0.000 26. 800 30.884 * 1. 647 0.700 3.000 * 3. 803 0. 287 R 0. 555 4. 358 5.000 ®| OK
No 20+ 5.000 26. 800 30.884 * 1. 648 0.700 3.000 ™ 3. 800 0. 288 I 0. 555 4. 355 5.000 *| OK
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